Maths 3.2.23
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Section 1 Section 2 Section 3 Section 4
Start at 0. Calculate: Three friends equally share 30 Cathy has £5.50.
sweets.

What number do you

= She spends £2.75.
reach if you count three 90+ 60 How many sweets do they each P

2 ?
steps of 82 60 +70= have? How much money does she have
left?
140 - 80 =
D 200~ 120+ j j |:]

Section 5 Section 6 Section 7 Section 8

How much is six 5ps?

[]

Add together the number
of sides a hexagon and a

triangle have.

[]

What is half of 16 added to a
third of 15?

[]

One stamp costs 90p. What do
three stamps cost?





